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���� 3HQHQWXDQ�5XDQJ�/LQJNXS��6FRSH��

3HQHOLWL�PHQHUDSNDQ�UXDQJ�OLQJNXS�SHQHOLWLDQ�SDGD�:HE�.56�'DULQJ�XQWXN�

PHQMDGL�WDUJHW�SHQJXMLDQ�PHUXMXN�SDGD�GDIWDU�KDVLO�SHQLODLDQ�ULVLNR�SDGD�SHQHOLWLDQ�

VHEHOXPQ\D��<XKD]���������+DVLO�\DQJ�LQJLQ�GLFDSDL�SHQHOLWL�DGDODK�SHQFDULDQ�DNXQ�

PLOLN�PDKDVLVZD��

���� 3HQJLQWDLDQ�6LVWHP��5HFRQQDLVVDQFH��

7DKDS�SHQJLQWDLDQ� LQL� GLODNXNDQ� XQWXN�PHQFDUL� LQIRUPDVL� GDVDU� WDUJHW� GDQ�

PHODNXNDQ�SRUW�VFDQQLQJ�PHQJJXQDNDQ�1PDS��3DGD�1PDS�WHUGDSDW�GXD�FDUD�GDODP�

PHODNXNDQ�SRUW�VFDQQLQJ�\DLWX�\DQJ�SHUWDPD�GHQJDQ�FRPPDQG�SURPSW���WHUPLQDO

DWDX�\DQJ�NHGXD�GHQJDQ�=HQPDS�\DQJ�PHPLOLNL�*8,�XQWXN�PHPSHUPXGDK�SHQHOLWL�

PHODNXNDQ�SRUW�VFDQQLQJ��3HQHOLWL�KDQ\D�WLQJJDO�PHQJHWLNDQ�WDUJHW�SHQJXMLDQ�GDQ�

PHPLOLK�SURILOH�VFDQ�\DQJ�GLLQJLQNDQ��3DGD�SHQJXMLDQ�LQL�PHPLOLK�PHQJJXQDNDQ�

SURILOH� VFDQ� ³VORZ� FRPSUHKHQVLYH� VFDQ´� GL� PDQD� =HQPDS� DNDQ� PHODNXNDQ�

SHPLQGDL� VHFDUD�PHQ\HOXUXK� XQWXN�PHQGDSDWNDQ� LQIRUPDVL� WHQWDQJ� SRUW� VHSHUWL�

SDGD�*DPEDU������

*DPEDU����� 3RUW�\DQJ�WHUEXND�

���� 3HQFDULDQ� .HUHQWDQDQ� .HDPDQDQ� �9XOQHUDELOLW\� 'HWHFWLRQ��

0HQJJXQDNDQ�7RROV�6RIWZDUH�2:$63�=$3�

3DGD� WDKDS� SHQFDULDQ� NHUHQWDQDQ� NHDPDQDQ� DNDQ� GLODNXNDQ� 9XOQHUDELOLW\�

6FDQQLQJ� �PHQJJXQDNDQ�2:$63�=$3� �2SHQ�:HE�$SSOLFDWLRQ�6HFXULW\�3URMHFW�


